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. ysafasst A wppib B staLeubisn Hepsndbaralsst paptul @ = i+ + 3k womio
b=—-5{+4j— k @emted HILILEGETDET.
(i) Ge1H AB @it orald Sl .d &I G b,
(i) emr®d i @t sreis sodurlh i1 r = 7£'+pi—4&+,u(3£+ 5/+5k), @5 p 90

wrfed @b, AB whpld i Gl el Gddanmer s SOul (BTG, P DDID

Gt Geul Hin LsTaNUDsr sl dn DiebsTt STATLEIDENDE BTN,

2. aleudme Do bnih CsTGSular e pusd O wppn 4, B wpmid C pdu ueTeflmsT (eHGW
A(1,2,—-1), B(—1,1,2) whmip €2, —1,1) eres.

(1) AB DD AC GEmen Caravaisoet 1, j whpid k @ ipluoml uid TGS LODEOID

AB % AC evmi ST,

(iil) @@\, wEGatw ABC @ uriusTenels Hianib,

(i) msinpd OABC G SEIGTEN6ID BIT 6l b.

3. (a) L, muwhod 1S apeip STelo6n 616, LeiTeu e e0Teuiifielt GUMIDT sobigeman LodLITH 5.

O Umm-n)+lm ], @ [Lm n]=1 (mxn)awen,
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Answer All Questions
1. The position vectors of the points A and B are given by
a=2i+j+3k and b= -5+ 4j — k respectively.
(1) Find the vector equation of the line AR ,
(1) The vector equation of the line 7, is [ : r=7i+pj—4k+uBi+ 5] +5k)

where p is a constant. Given that AB and /i intersect, find p and the
coordinates of the point of intersection, '

2. Let O be the origin of right-handed coordinate system and 4, B, and C be the points
A(1,2,-1), B(~1,1,2) and C(2,—1,1) respectively.

(i) Write down expressions for 48 and AC  in terms of i,jandk and find

AB x AC,
(ify Hence, calculate the arca of the triangle ABC,
(iii) Find the volume of the tetrahedron OARC,

3. (a) Let [,mand n be three vectors. Evaluate

@ [Lm m-n)]+{im nf, where [l m n] =1 (m xn)
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“ unmxil] = [f:lmn] LODOID U m R] # 0 0.

(b) 20i—j+3k 3it2j+ k, itmj+4k pBusi osaonams s, m Beit

QUL 60T 6 e T 6001 &b,

© lal=1 || =2 ¢ =1uwppd ax (axb)+ c=0awt Bowm a,b, e e

ApeTn EreinsT eTafle, @ whwid b GHpdleni ulisore Fn_THICEHT S SEBS BT b
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(b) If 20—-j+3k, 3i+2j+k ,i+mj+ 4k are coplanar, find the value of m,

() If a,b ¢ arethree vectors such that |a| = 1L]pl=2, || =1and
ax(ax b)+ ¢ =0, then find the acute angle between a and b .
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